%‘?%%@ Problem

£

Richie Rich celebrates his birthday on
April 1. This year, his parents have given
him his choice of gifts. He can choose
one of the following options:

| option 2| (&

His parents will deposit $2 in a savings account on April
1. Each day they will double the amount in that account
until the end of the month. On April 30, Richie can have
whatever money has accumulated in the account.

Which option would you choose?



Option 1, they end up with $500,000, but option 2 yields $2°°
or $1,073,741,824.
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$134,217,728

$1,073,741,824




